
1. In	the	Recurrence	Comparison	Figures	7.5.2‐9	through	2‐42,	several	
realizations	are	shown	along	with	the	catalog	data	and	standard	deviations	
thereof.		Explain	why	or	how	the	recurrence	curves	are	drawn	as	they	are	
when	several	of	standard	deviation	whisker	plots	extend	off	the	chart	for	the	
larger	magnitude	events.	

2. Explain	why	in	Figures	8.2‐6B	through	‐6D	and	8.2‐6H	through	‐6M	the	
Charleston	annual	frequency	of	exceedance	is	essentially	constant	for	g	
values	0.01	through	about	0.1.		

3. Page	756,	the	figure	number	referred	to	for	the	Columbia,	SC	PGA	curves	is	
incorrect;	it	should	be	9.6‐62	not	‐22.		Similarly,	the	figure	numbers	for	the	
COVs	are	incorrect.	

4. 	


